Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.

10 000 100 10 1000

3,28

7,01

6,57

4,19

2,77

10 000 1000 10 100

7,21

1,86

5,81

2,02

4,07

10 000 1000 10 100

7,1

4,66

6,32

5,08

2,89

10 000 100 10 1 000

1,31

4,09

2,82

5,02

6,02
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 10 000 100 10 1 000
3,28 32800 328 32,8 3280
7,01 70100 701 70,1 7010
6,57 65700 657 65,7 6570
4,19 41900 419 41,9 4190
2,77 27 700 277 27,7 2770

X 10 000 1000 10 100
7,21 72100 7210 72,1 721
1,86 18 600 1860 18,6 186
5,81 58 100 5810 58,1 581
2,02 20 200 2020 20,2 202
4,07 40700 4070 40,7 407

X 10 000 1000 10 100

7,1 71000 7100 71 710
4,66 46 600 4 660 46,6 466
6,32 63 200 6 320 63,2 632
5,08 50 800 5080 50,8 508
2,89 28900 2 890 28,9 289

X 10 000 100 10 1 000
1,31 13100 131 13,1 1310
4,09 40900 409 40,9 4 090
2,82 28 200 282 28,2 2820
5,02 50 200 502 50,2 5020
6,02 60 200 602 60,2 6020
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